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ik C SAS 4255 7%

C-1 %327 4§ fFEMTRBEEFTAF LN LAESBE

dm ' log;clear;output;clear;';

data exp;

input ASB$CSESF$D$Y;
AB=compress(A) "' compress(B);
AC=compress(A) """ compress(C);
BC=compress(B) '’ compress(C);
AD=compress(A) '' compress(D);
EF=compress(E) """ compress(F);
BD=compress(B) '’ compress(D);
cards;

11111128

1111227.12

11221278

112221487

12121110.14
12122211.83
122112951
1221216.04
21122211.26
21121102
2121212.01
2121127.70
221122830
221111-20.25
2222210.16
22221278
11111128
111122712
11221278
1122214.87
12121110.14
12122211.83
122112951
1221216.04

347



21122211.26
21121102
2121212.01
2121127.70
221122830
221111-20.25
2222210.16
22221278

proc univariate normal plot;
vary;

proc anova;

class AB;

model y=AB;
means ABducan;
proc anova;

class AC;

model y=AC;
means ACducan;
proc anova;

class BC;

model y=BC;
means BCducan;
proc anova;

class AD;

model y=AD;
means ADducan;
proc anova;

class ef;

model y=ef;

means efducan;
proc anova;

class BD;

model y=BD;
means BDducan;
proc anova;
classABCDEF;
model y=A B CD E F AB AC AD BC BD EF;
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means A B C D E Fducan;
run;
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C-2 %319 5T B FivRELBFTRFAIT2Z 5545

£

dm ' log;clear;output;clear;';

data exp;

input ASBSCSESF$D$Y;
AB=compress(A) [I'/' |l compress(B);
AC=compress(A) |1'/'||compress(C);
BC=compress(B) I|'/'|| compress(C);
AD=compress(A) I'|' /' | | compress(D);
EF=compress(E) |1'/'||compress(F);
BD=compress(B) I |'/'I| compress(D);
cards;

111111738

111122101.6

1122121044

112221899

121211954

121222100.7

122112101.3

12212190.1

211222100.7

211211164

21212167.6

212112102.6

2211221004

2211111.02

222221227

22221296.0

111111719

111122102.6

112212101.8

11222187.9

121211958

121222100.1

122112102.1

12212195.2

211222100.5

211211135
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212121658
212112102

221122999
2211111.07
222221276
222212968

proc univariate normal plot;
vary;

proc anova;

class AB;

model y=AB;
means AB/ducan;
proc anova;

class AC;

model y=AC;
means AC/ducan;
proc anova;

class BC;

model y=BC;
means BC/ducan;
proc anova;

class AD;

model y=AD;
means AD/ducan;
proc anova;

class ef;

model y=ef;

means ef/ducan;
proc anova;

class BD;

model y=BD;
means BD/ducan;
proc anova;
classABCDEF;
model y=A B C D E F A*B A*C A*D B*C B*D E*F;
means A B C D E F/ducan;
run;
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C-3 M2 3277 10CHRTF* FAvrBEEFRF AT RF

Y

dm ' log;clear;output;clear;';

data exp;

input ASBSCSESF$D$Y;
AB=compress(A) [I'/' |l compress(B);
AC=compress(A) |1'/'||compress(C);
BC=compress(B) I|'/'|| compress(C);
AD=compress(A) I'|' /' | | compress(D);
EF=compress(E) |1'/'||compress(F);
BD=compress(B) I |'/'I| compress(D);
cards;

111111171

111122599

112212505

11222110.6

121211455

12122251.7

12211220.0

122121149

21122213.0

2112110.13

21212108

212112219

221122334

2211111.02

2222210.15

222212404

111111138

111122574

112212527

11222115.1

12121147.2

121222523

12211215.0

122121119

211222135

2112111.0
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21212126
212112191
221122287
2211110.1
2222210.01
222212309

proc univariate normal plot;
vary;

proc anova;

class AB;

model y=AB;
means AB/ducan;
proc anova;

class AC;

model y=AC;
means AC/ducan;
proc anova;

class BC;

model y=BC;
means BC/ducan;
proc anova;

class AD;

model y=AD;
means AD/ducan;
proc anova;

class ef;

model y=ef;

means ef/ducan;
proc anova;

class BD;

model y=BD;
means BD/ducan;
proc anova;
classABCDEF;
model y=A B C D E F A*B A*C A*D B*C B*D E*F;
means A B C D E F/ducan;
run;
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C-4 114 334 ° 60% SOC FF 3 # F fiew i 18 {7 503 A 452 250

5

dm ' log;clear;output;clear;';

data exp;

input ASB$CSESF$D$Y;
AB=compress(A) [I'/' |l compress(B);
AC=compress(A) |1'/'||compress(C);
BC=compress(B) I|'/'|| compress(C);
AD=compress(A) I'|' /' | | compress(D);
EF=compress(E) |1'/'||compress(F);
BD=compress(B) ||'/'I| compress(D);
cards;

111111-3.12

1111221.86

1122121.54

1122210.35

1212112.00

1212220.75

1221121.60

1221210.96

2112221.75

211211-7.68

212121-35

2121120.83

2211222.36

221111-6.31

222221-7.63

2222121.77

111111-3.30

1111221.61

1122121.84

112221-0.30

1212111.65

1212221.73

1221121.32

1221210.85
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2112221.96
211211-8.36
212121-5.20
2121121.22
221122230
221111-543
222221-740
2222121.63

proc univariate normal plot;
vary;

proc anova;

class AB;

model y=AB;
means AB/ducan;
proc anova;

class AC;

model y=AC;
means AC/ducan;
proc anova;

class BC;

model y=BC;
means BC/ducan;
proc anova;

class AD;

model y=AD;
means AD/ducan;
proc anova;

class ef;

model y=ef;

means ef/ducan;
proc anova;

class BD;

model y=BD;
means BD/ducan;
proc anova;
classABCDEF;
model y=A B C D E F A*B A*C A*D B*C B*D E*F;
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means A B C D E F/ducan;
run;

C-5 1143757 S f 18 5 ¥ R 7832 52 122578

dm ' log;clear;output;clear;';

data exp;

input ASBSCSESF$D$Y;
AB=compress(A) [I'/' Il compress(B);
AC=compress(A) |1'/'||compress(C);
BC=compress(B) I|'/' || compress(C);

cards;
11111113.79
11222215.61
11333314.47
12122317.09
12233110.8
12311214.46
131332842
1321135.15
1332217.53
21123211.24
2123139.58
21312113.66
221311 19.28
222122 14.78
22323314.87
23112315.53
232231 13.78
233312 10.80
3113231299
3121319.18
31321212.08
3211328.98
32221312.56
3233217.40
331211 12.75
33232211.96
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3331337.98
11111113.79
11222215.61
11333314.47
12122317.09
12233110.8
12311214.46
131332842
1321135.15
1332217.53
21123211.24
2123139.58
21312113.66
221311 19.28
222122 1478
22323314.87
23112315.53
232231 13.78
233312 10.80
3113231299
3121319.18
31321212.08
3211328.98
32221312.56
323321740
331211 12.75
33232211.96
3331337.98
proc univariate normal plot;
vary;

proc anova;
classAB CEF D;
model y=A B C EFD A*B A*C B*C;
means A B C E F D /duncan;
run;

proc anova;
class AB;
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model y=AB;
means AB/duncan;
proc anova;

class AC;

model y=AC;
means AC/duncan;
proc anova;

class BC;

model y=BC;
means BC/duncan;
run;

C-6 1% 386° Fitmd2 | FIvHERTRILITZENB

dm ' log;clear;output;clear;';

data exp;

input ASBSCSESF$D$Y;
AB=compress(A) [I'/' |l compress(B);
AC=compress(A) |1'/'||compress(C);
BC=compress(B) I|'/'|| compress(C);

cards;
111111109
112222108
113333106
121223975
122331104
123112105
13133295.2
132113958
133221922
211232992
21231389.0
213121103
221311 96.1
222122 105
223233104
231123098.1
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232231 102
233312 965
3113239238
312131969
313212102
321132096

322213929
3233210919
331211 913
332322871
333133943
111111107
112222106
113333107
12122398.1
122331105

123112108
131332953
13211397.0
13322193.0
211232993
212313908
213121105

221311 899
222122 107
223233106
231123973
232231 101
233312 955
311323 95.0
31213197.6
313212101

321132955
322213953
323321091.1
331211 925
332322903
333133955
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proc univariate normal plot;

vary;

proc anova;

classABCEF D;

model y=A B C EFD A*B A*C B*C;
means A B C E F D /duncan;

run;

proc anova;
class AB;

model y=AB;
means AB/duncan;
proc anova;

class AC;

model y=AC;
means AC/duncan;
proc anova;

class BC;

model y=BC;
means BC/duncan;
run;

C-7 r1 % 3-86 ¢ Fit a2 % ’—?“S'E-f'ilfvf-/}ﬁiﬁi“ﬁ

date exp;
inputABCEFDy;
p=A*A;

q=B*B;

r=C*C;

s=D*D;

t=E*E,;

u=F*F;

v=A*B;

w=A*C;

x=B*C;

cards;
-1-1-1-1-1-1108.2
-1-1 0 0 0 0 107.1
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1 1 11065
0 0 1978
0 1 1-11042
1-1-1 0106.6
-1 1 1 0953
0-1-1 1964
1 0 0-192.6
0 -1-1 0 1 0993
0 1-1 1899
I 1-1 0-1104.3
-1 1-1-193.0
0 -1 0 0105.9
1 0 1 11049
-1-1 0 1977
0 0 1 -1101.4
I 1

1
-1

1
[
—_ = = OO O

(=)
1
—

—_—_——0 O O !

[ |
p—

0 -1915
-1 0-1-191.9
0 1 0 0 887
1 1-1 1 1949
proc reg;
model y=pqrstuvwxAB C D E F/selection=forward;
output out=exp p=PMY 195m=L95MY u95m=UISMY;
proc print;
run;

— e e e e el e e em O O O O O O O

C-8 114 399% 10CRTEWHELFII* FAvrRELFHRFAITL

25

dm ' log;clear;output;clear;';
data exp;
input ASBSCSESF$SDSY:;
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AB=compress(A) |1'/'||compress(B);
AC=compress(A) [1'/' Il compress(C);
BC=compress(B) I|'/' || compress(C);

cards;
11111113.1
11222292
1133330
12122305
122331453
123112285
13133210.2
13211329.0
133221403
211232224
21231389
21312136
221311 5.7
222122 15.7
22323346.7
231123204
232231 225
233312 29.6
3113231.6
31213134
31321256.7
3211320
32221354.1
323321234
331211 256
33232228
33313325
11111122
11222246
1133330
121223375
122331564
12311231.2
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1313321.92
13211320.7
133221345
211232278
21231310
21312121
22131111.6
222122215
223233345
23112318
232231237
233312 26
3113230
31213136
31321247.1
3211320

322213 60
323321155
331211 O
33232229.2
333133289

proc univariate normal plot;
vary;

proc anova;
classAB CE F D;

model y=A B CE F D A*B A*C B*C;
means A B C E F D /duncan;
run;

proc anova;
class AB;

model y=AB;
means AB/duncan;
proc anova;

class AC;

model y=AC;
means AC/duncan;
proc anova;
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class BC;

model y=BC;
means BC/duncan;
run;

C-9 1123997 10C T ERP2L* FEr BELFTRFSITL

A2 375
date exp;
inputABCEFDyj;
p=A*A;
q=B*B;
r=C*C;
s=D*D;
t=E*E;
u=F*F;
v=A*B;
w=A*C,
x=B*C;
cards;
-1-1-1-1-1-1 7.6
-1-1 0 0 0 0 6.9
-1-1 1 1 1 10.02
-1 0-1 0 0 1438
-1 0 0 1 1-150.9
-1 0 1-1-1 029.8
-1 1-1 1 1 0 6.0
-1 1 0-1-1 1249
-1 1T 1 0 0-1374
0O -1-1 0 1 025.1
0O -1 0 1-1 194
0O -1 1-1 0-129
0O 0 -1 1-1-18.7
0O 0 0 -1 0 0186
0O 01 O 1 1406
O 1-1-1 0 119.2
O 1 0 0 1 -123.1
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0O 1 1 1-1 0278
I-1-1 1 0 108
I-1 0-1 1-135

I-1 1 0-1 0519

1 0-1-1 1 00.1

I 0 0 0-1 1571
1 01 1 0 -1194
I 1-1 0-1-11.3

1 1 0 1 0 0286
I 1 1-1 1 1269
proc reg;

model y=pqrstuvwxAB C D E F/selection=forward;
output out=exp p=PMY 195m=L95MY u95m=U9I5SMY;

proc print;
run;

C-10 1% 3-113° 2 FH FLivRBELEFR

dm ' log;clear;output;clear;';

data exp;

input ASBSCSESF$DSY;
AB=compress(A) |1'/' |l compress(B);
AC=compress(A) |1'/'||compress(C);
BC=compress(B) | |'/'I| compress(C);

cards;
111111091
11222209
1133330.391
1212231.64
1223311.76
1231121.74
1313320.17
1321131.04
1332211.42
21123211.23
212313211
2131211.48
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221311 1.28
222122 1.83
223233223
231123240
232231 1.05
233312 1.82
3113231.26
3121311.05
3132121.54
3211321.22
322213141
3233210.86
331211 1.06
3323221.98
3331331.76
I1111111.16
1122220.90
113333091
1212231.44
1223311.63
1231121.81
1313320.74
1321131.04
1332211.49
21123211.27
2123131.32
2131211.38
2213111.82
2221221.57
2232331.71
231123239
2322311.29
233312 1.64
3113231.46
3121310.98
3132121.59
321132134
3222131.38
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3233210.93

331211 1.13
3323222.00
3331332.15

proc univariate normal plot;
vary;

proc anova;

classAB CEF D;

model y=A B C EFD A*B A*C B*C;
means A B C E F D /duncan;
run;

proc anova;
class AB;

model y=AB;
means AB/duncan;
proc anova;

class AC;

model y=AC;
means AC/duncan;
proc anova;

class BC;

model y=BC;
means BC/duncan;
run;

C-11 Mm% 3- 1137 238 H#FLvRIE

date exp;
inputABCEFDYy;
p=A*A;

q=B*B;

r=C*C;

s=D*D;

t=E*E;

u=F*F;

v=A*B;

w=A*C;
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x=B*C;

cards;

-1-1-1-1-1-1 1.04
-1-1 0 0 0 0 0.90
-1-1 1 1 1 10.65
-1 0-1 0 0 11.54
-1 0 01 1-11.70
-1 0 1-1-1 01.78

-1 1-1 1 1 0 046
-1 1 0-1-1 11.03
-1 1T 1 0 0-11.46
O -1-1 0 1 01.25
O -1 0 1-1 11.71
0O -1 1-1 0-1143

0O 0 -1 1-1-11.55

0O 0 0 -1 0 01.70
O 01 0 1 1197
O 1-1-1 0 1240
01 0 0 1 -11.17
0O 1 1 1-1 01.73
1-1-1 1 0 11.36
1-1 0-1 1-11.02

1-1 1 0-1 01.56

1 0-1-1 1 01.28

1 0 0 0-1 1140

1 01 1 0 -10.90
1 1-1 0-1-11.10

1 1.0 1 0 0 1.99
1 1 1-1 1 11.96

proc reg;
model y=pqrstuvwxAB C D E F/selection=forward;
output out=exp p=PMY 195m=L95MY u95m=UISMY;
proc print;

run;
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